
K
:\E

strutural (E
S

)\V
E

R
S

Ã
O

 E
B

E
R

IC
K

 2 018\D
E

S
E

N
H

O
S

 F
IN

A
IS

\R
F

01G
G

_E
S

_
R

E
V

03-S
E

LO
1-3517916.png

ENDEREÇO:

ÁREA PROJETAD A:
DATA:

FASE:

DESENH
OS:

ESCALA:
REVISÃO:

CÓDIGO:

C
opyright ©

 2016 G
ustavo B

orges A
rqui tetura +

 E
ngenharia

 T
odos direitos reser vados

FOLH
A:

IN
D

IC
A

D
A

S

E
S

-09

D
E

T
A

LH
A

M
E

N
T

O
S

 C
O

B
E

R
T

U
R

A
- F

O
LH

A
 1-  R

E
V

 07

R
F

01-2\R
F

01G
G

\R
F

01G
G

_C
e

ntr al_01

E
X

E
C

U
T

IV
O

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5030
14

65
8

33
8

320

27 N1 c/12
ESC 1:25

=
P

27=
P

3 3
P

1=
P

6=
P

8=
P

11=
P

16=
P

26=

4 N2 ø10.0  C=317
317

27 N
1 ø

5.0  C
=

76

8

24

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5030

14

65
8

33
8

320

27 N3 c/12

27
 N

4
 ø

5.0  C
=

23

ESC 1:25

P
2=

P
29

6 N5 ø10.0  C=317
317

27 N
3 ø

5.0  C
=

76

8

24
N

4

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5040

14

65
8

33
8

320

23 N6 c/14

23 N
7 ø

5.0  C
=

23

ESC 1:25

P
3

6 N8 ø16.0  C=317
317

23
 N

6
 ø

5.0
  C

=
96

8

34
N

7

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5040

14

65
8

33
8

320

27 N9 c/12

2x27 N
10

 ø
5.0

  C
=

23

ESC 1:25

P
9

12 N11 ø10.0  C=317
317

27
 N

9
 ø

5.0
  C

=
96

8

34
N

10

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5030

14

65
8

33
8

320

27 N12 c/12
ESC 1:25

P
20=

P
21

8 N13 ø10.0  C=317
317

27 N
12

 ø
5.0

  C
=

76

8

24

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5030

14

65
8

33
8

320

27 N14 c/12

27
 N

1
5 ø

5
.0  C

=
2

3

ESC 1:25

P
22

10 N16 ø10.0  C=348

320 28

27 N
14

 ø
5.0

  C
=

76

8

24
N

15

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5030

14

65
8

33
8

320

27 N17 c/12

27
 N

1
8 ø

5
.0  C

=
2

3

ESC 1:25

P
24

10 N19 ø10.0  C=317

317

27 N
17

 ø
5.0

  C
=

76

8

24
N

18

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5014

14

65
8

33
8

320

23 N20 c/14

ESC 1:25

P
30

4 N21 ø12.5  C=354

320 34

23
 N

2
0 ø

5
.0  C

=
4

4
8

8

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1

:5030

14

65
8

33
8

320

27 N22 c/12

ESC 1:25

P
31

4 N23 ø10.0  C=348
320 28

27 N
22

 ø
5.0

  C
=

76

8

24

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1:5

030

14

658

33
8

320

23 N24 c/14

23 N
25

 ø
5.0

  C
=

23

ESC 1:25

P
32

6 N26 ø16.0  C=317
317

23
 N

2
4 ø

5
.0  C

=
7

6

8

24
N

2
5

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1:5

030

14

658

33
8

320

23 N27 c/14
ESC 1:25

P
35

12 N28 ø12.5  C=354
320 34

23
 N

2
7 ø

5
.0  C

=
7

6

8

24

C
O

B
E

R
T

U
R

A
 - L3

E
S

C
 1:5

030
14

658

243

415

30 N29 c/14
ESC 1:25

P
41

8 N30 ø12.5  C=412
412

30
 N

2
9 ø

5
.0  C

=
7

6

8

24
P

1
P

2
P

3

30
169

14
 x 45

30
211

14
 x 45

14

(1c)

(1
c)

E
S

C
 1:5

0
V

1 (14 x 4 5)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:2

5

45

14

169
12 N

3
1 c/1

5
225

16 N
3

1 c/1
5

658

2 N
32

 ø
10

.0  C
=

4
6 3

10
44

8
10

2 N
3

3 ø
1

0.0
  C

=
51

9

38
44

8
38

28
 N

3
1 ø

5
.0  C

=
1

0 6
8

39

V
17

V
19

439

14
 x 45

(1c)

E
S

C
 1:5

0
V

2 (14 x 4 5)

A A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:2

5

45

14

41
1

28
 N

3
5 c/1

5

658

2 N
36 ø

10.0
  C

=
45

0
12

43
3

10

2 N
3

4 ø
5

.0  C
=

433

28
 N

3
5 ø

5
.0  C

=
1

0 6
8

39

P
8

P
9

30
185

14
 x 45

14

(1c)

(1
c)

E
S

C
 1:5

0
V

3 (14 x 4 5)A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:2

5

45

14

215
15 N

3
7 c/1

5

658

2 N
38

 ø
10

.0  C
=

2
3 8

10
22

3
10

2 N
3

9 ø
1

0.0
  C

=
29

4

38
22

3
38

15
 N

3
7 ø

5
.0  C

=
1

0 6
8

39

V
14

V
17

454

14
 x 45

(1c)

E
S

C
 1:5

0
V

4 (14 x 4 5)

A A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:2

5

45

14

426
29

 N
4

1 c/1
5

658

2 N
42 ø

10.0
  C

=
46

3
10

44
8

10

2 N
4

0 ø
5

.0  C
=

448

29
 N

4
1 ø

5
.0  C

=
1

0 6
8

39

V
17

V
18

V
19

V
21

65
4

14
 x 45

(2c)

(1c)

(1
c)

E
S

C
 1:5

0
V

5 (14 x 4 5)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:25

45

14

62
6

42
 N

4
3 c/1

5

658

2 N
4

5 ø
1

2.5
  C

=
66

4
15

640
15

2 N
4

6 ø
1

2.5
  C

=
67

2
15

64
8

15

2 N
44

 ø
10

.0
  C

=
71 9

38
648

38

42
 N

4
3 ø

5
.0  C

=
1

0 6
8

39

P
21

P
X

42

P
22

30
100

14
 x 45

310

14
 x 45

14

E
spe

ra P
X

4
2

(1c)

(1
c)

E
S

C
 1:5

0
V

6 (14 x 4 5)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:25

45

14

41
0

28
 N

4
7 c/1

5

E
S

P
E

R
A

 P
X

42
E

S
C

 1
:25

42

658

2 N
49

 ø
10

.0  C
=

4
6 3

10
448

10

2 N
50

 ø
10

.0
  C

=
51 9

38
448

38

28
 N

4
7 ø

5
.0  C

=
1

0 6
8

39

4 N51 ø10.0  C=91

20

73

4 N
48

 ø
5.0 c/1

2  C
=

7
6

8
24

V
1

6
P

2
4

21
5

14 x 3
0

30

(1
c)

(1c)

E
S

C
 1

:50
V

7 (14 x 3 0)A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1:2
5

30

14

20
1

14 N
52 c/15

65
8

2 N
5

3 ø
1

0.0
  C

=
25 4

10
23

9
10

2 N
54

 ø
10

.0  C
=

2
8 0

23
23

9
23

14 N
52 ø

5.0
  C

=
76

8

24

P
24

P
26

P
27

30
255

14
 x 45

30
110

14
 x 45

14

(1c)

(1
c)

E
S

C
 1

:50
V

8 (14 x 4 5)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:25

45

14

25
5

17
 N

5
5 c/1

5
12

4
9 N

55
 c/15

658

2 N
56

 ø
10

.0  C
=

4
4 8

10
433

10

2 N
57

 ø
12

.5  C
=

5
0 3

38
433

38

26
 N

5
5 ø

5
.0  C

=
1

0 6
8

39

P
29

P
X

43

P
30

14
116

14
 x 45

310

14
 x 45

14

E
sp

era P
X

4
3

(1c)

(1
c)

E
S

C
 1

:50
V

9 (14 x 4 5)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:25

45

14

42
6

29
 N

58
 c/15

E
S

P
E

R
A

 P
X

43
E

S
C

 1
:25

42

658

2 N
62 ø

12.5
  C

=
4

7 2
15

44
8

15

2 N
6

0 ø
1

0.0
  C

=
51

9

38
448

38

29
 N

58
 ø

5
.0  C

=
1

0 6
8

39

4 N61 ø10.0  C=91

20

73

4 N
59

 ø
5.0

 c/12
  C

=
7

6

8
24

V
15

V
20

654

14
 x 35

(2c)

(1c)

(2c)

(1c)

E
S

C
 1

:50
V

10 (14 x  35)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1
:25

35

14

62
6

42
 N

6
3 c/1

5

658

1 N
6

6 ø
12.5

  C
=

66
4

15
64

0
15

2 N
67 ø

12.5
  C

=
6

7 2
15

64
8

15

1 N
64

 ø
10

.0  C
=

6
8 5

25
64

0
25

2 N
65

 ø
10

.0  C
=

6
9 3

25
64

8
25

42 N
63 ø

5.0
  C

=
86

8

29

P
32

P
33

P
41

P
35

14
42

6

14 x 45

14
30

0

14 x 45

14
31

2

14 x 45

14

(1
c) (2c)

41
8

(1c)

E
S

C
 1

:50
V

11 (14 x  45)

A

A

S
E

Ç
Ã

O
 A

-A
E

S
C

 1:2
5

45

14

110
10 N

6
8 c/1

1
316

22 N
6

8 c/1
5

626
42 N

6
8 c/1

5

690

2 N
69

 ø
10

.0  C
=

1
1 0

5
12

10
88

10

1 N
70

 ø
16

.0  C
=

5
9 5

2 N
71

 ø
16

.0  C
=

1
1 5

7

38
10

88
38

74 N
6

8 ø
5.0

  C
=

10 6
8

39

R
e

la
çã

o
 d

o
 a

ço

E
LE

M
E

N
T

O
A

Ç
O

N
D

IA
M

(m
m

)
Q

U
A

N
T

C
.U

N
IT

(cm
)

C
.T

O
T

A
L

(cm
)

8xP
1

C
A

60
1

5.0
21

6
76

16
416

C
A

50
2

10
.0

32
31

7
10

144
2xP

2
C

A
60

3
5.0

54
76

41
04

C
A

60
4

5.0
54

23
12

42
C

A
50

5
10.0

12
317

3804
P

3
C

A
6

0
6

5.0
23

96
220

8
C

A
6

0
7

5.0
23

23
529

C
A

5
0

8
16.0

6
317

190
2

P
9

C
A

60
9

5.0
27

96
25

92
C

A
60

10
5.0

54
23

12
42

C
A

50
11

10
.0

12
31

7
38

04
2xP

20
C

A
6

0
12

5.0
54

76
4104

C
A

5
0

13
10.0

16
317

507
2

P
22

C
A

6
0

14
5.0

27
76

205
2

C
A

6
0

15
5.0

27
23

62
1

C
A

50
16

10
.0

10
34

8
34

80
P

24
C

A
60

17
5.0

27
76

20
52

C
A

6
0

18
5.0

27
23

621
C

A
5

0
19

10.0
10

317
317

0
P

30
C

A
6

0
20

5.0
23

44
101

2
C

A
5

0
21

12
.5

4
35

4
14

16
P

31
C

A
60

22
5.0

27
76

20
52

C
A

50
23

10.0
4

348
1392

P
32

C
A

60
24

5.0
23

76
17

48
C

A
6

0
25

5.0
23

23
529

C
A

5
0

26
16.0

6
317

1902
P

3
5

C
A

6
0

27
5.0

23
76

174
8

C
A

5
0

28
12

.5
12

35
4

42
48

P
4

1
C

A
6

0
29

5.0
30

76
22

80
C

A
50

30
12

.5
8

41
2

32
96

V
1

C
A

6
0

31
5.0

28
106

2968
C

A
5

0
32

10.0
2

463
926

C
A

5
0

33
10.0

2
519

103
8

V
2

C
A

6
0

34
5.0

2
43

3
86

6
C

A
60

35
5.0

28
10

6
29

68
C

A
50

36
10

.0
2

45
0

90
0

V
3

C
A

60
37

5.0
15

10
6

15
90

C
A

5
0

38
10.0

2
238

476
C

A
5

0
39

10.0
2

294
588

V
4

C
A

6
0

40
5.0

2
448

896
C

A
60

41
5.0

29
10

6
30

74
C

A
50

42
10

.0
2

46
3

92
6

V
5

C
A

60
43

5.0
42

10
6

44
52

C
A

50
44

10.0
2

719
1438

C
A

50
45

12.5
2

664
1328

C
A

5
0

46
12.5

2
672

134
4

V
6

C
A

6
0

47
5.0

28
10

6
29

68
C

A
6

0
48

5.0
4

76
304

C
A

50
49

10
.0

2
46

3
92

6
C

A
50

50
10

.0
2

51
9

10
38

C
A

50
51

10
.0

4
91

36
4

V
7

C
A

6
0

52
5.0

14
76

1064
C

A
5

0
53

10.0
2

254
508

C
A

50
54

10
.0

2
28

0
56

0
V

8
C

A
60

55
5.0

26
10

6
27

56
C

A
50

56
10

.0
2

44
8

89
6

C
A

50
57

12
.5

2
50

3
10

06
V

9
C

A
6

0
58

5.0
29

106
3074

C
A

6
0

59
5.0

4
76

304
C

A
50

60
10

.0
2

51
9

10
38

C
A

5
0

61
10

.0
4

91
36

4
C

A
50

62
12

.5
2

47
2

94
4

V
10

C
A

60
63

5.0
42

86
36

12
C

A
50

64
10.0

1
685

685
C

A
5

0
65

10.0
2

693
1386

C
A

5
0

66
12.5

1
664

664
C

A
5

0
67

12.5
2

672
134

4
V

1
1

C
A

60
68

5.0
74

10
6

78
44

C
A

50
69

10
.0

2
11

05
22

10
C

A
50

70
16

.0
1

59
5

59
5

C
A

5
0

71
16.0

2
1157

2314

R
esu

m
o

 do
 a ço

A
Ç

O
D

IA
M

(m
m

)
C

.T
O

T
A

L
(m

)
P

E
S

O
 +

 1
0 %

(kg)
C

A
5

0

C
A

60

10
.0

12
.5

16
.0

5.0

471
.4

15
5.9

67
.2

85
9

31
9.7

16
5.2

11
6.5

14
5.6

P
E

S
O

 T
O

T
A

L
(kg)

C
A

50
C

A
60

60
1.4

14
5.6

V
o

lu
m

e
 d

e con
cre

t o (C
-4

0) =
 6.25 m

³
Á

rea de form
a =

 1
1 6

.11 m
²

R
U

A
 B

E
N

E
D

IC
T

O
 S

E
R

A
P

H
IM

, C
O

N
D

. V
ILL A

S
Ã

O
 V

IN
C

E
N

T
E

, JA
R

D
IM

 N
O

Ê
M

IA
, F

R
A

N
C

A
-S

P
C

E
P

 14403 -895 - Q
U

A
D

R
A

 E
, LO

T
E

 07

19/01/2018

R
F

01-2\R
F

01G
G

\R
F

01G
G

_C
e

ntr al_01

336,05 m
²

E
X

E
C

U
T

IV
O


	Slide 1

